
MATHS

BOOKS - MAXIMUM PUBLICATION

SEQUENCE AND SERIES

Example

1. Find the  term of the sequence 


Watch Video Solution

nth

5, 2, − 1, − 4, − 7, …

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_BqIEzvYrq09L


2. Find the  term of the sequence 


Watch Video Solution

nth

12, 7, 2, − 3, − 8, …. .

3. A sequence is given  by 

 show that it is not an AP.

Watch Video Solution

{an}

an = n2 − 1, n ∈ N

https://dl.doubtnut.com/l/_BqIEzvYrq09L
https://dl.doubtnut.com/l/_oRYThZBLFSq5
https://dl.doubtnut.com/l/_VzgdR0hvtKxT


4. Find the sum to 

15 terms of the AP 3,7,11,……

Watch Video Solution

5. Find the sum to 

20 terms of the AP 10,7,4,……

Watch Video Solution

https://dl.doubtnut.com/l/_VBZrETdAuxnd
https://dl.doubtnut.com/l/_t5lIPxBH4JoJ


6. Find the sum to 

81 terms of the AP-1, , ,……

Watch Video Solution

1

4

3

2

7. Insert 6 arithmetic means between 3 and 24.

Watch Video Solution

8. If the  term of a GP -2,4,-8,,16,…… is 1024. 


Find n.

nth

https://dl.doubtnut.com/l/_vJngXCN1lKi9
https://dl.doubtnut.com/l/_29YeSYvAhN50
https://dl.doubtnut.com/l/_TyxebnC47guT


Watch Video Solution

9. If the  term of a GP 2, ,4,…… is 64. 


Find n.

Watch Video Solution

nth 2√2

10. Find the sum of first 20 terms of the GP 

,……..

Watch Video Solution

√3, 2√3, 4√3, 8√3

https://dl.doubtnut.com/l/_TyxebnC47guT
https://dl.doubtnut.com/l/_kC3wvCEl6AIf
https://dl.doubtnut.com/l/_YJusoJjODNl0
https://dl.doubtnut.com/l/_hQ7OzgM336vv


11. In a GP , if  and 

. Find common ration and n.

Watch Video Solution

{an} a1 = 3, an = 96

Sn = 189

12. Find the sum to n terms of the question: 

Watch Video Solution

9 + 99 + 999 + …. .

https://dl.doubtnut.com/l/_hQ7OzgM336vv
https://dl.doubtnut.com/l/_YFbZTLF9JKhL


13. Find the sum to n terms of the question: 

Watch Video Solution

4 + 44 + 444 + …. .

14. The third term of a GP is 4. Find the

product of the first five terms.

Watch Video Solution

https://dl.doubtnut.com/l/_nw0dW4wPRkUD
https://dl.doubtnut.com/l/_lpWxgkKmMvPQ


15. Insert 4 geometric means between 4 and

972.

Watch Video Solution

16. Find the sum to infinity of this geometric

progression. 

Watch Video Solution

1, , , , ……
1

2

1

22

1

23

https://dl.doubtnut.com/l/_xCDClggAnKFf
https://dl.doubtnut.com/l/_3qaAJLU7uLPq


17. Find the sum to infinity of this geometric

progression. 

Watch Video Solution

5, , , ……
20

7

80

49

18. The  term of an AP is 73 and the 

term is 43. Find the  term.

Watch Video Solution

10th 20th

44th

https://dl.doubtnut.com/l/_iyanBPkRAw0j
https://dl.doubtnut.com/l/_Ok4raVOabDTQ


19. The  term of an AP is 34 and the 

term is 74. Find the  term.

Watch Video Solution

7th 15th

40th

20. Find the sum of 32 terms of an AP whose

third term is 1 and the  term is -11.

Watch Video Solution

6th

https://dl.doubtnut.com/l/_YuHqNddBvfo0
https://dl.doubtnut.com/l/_eY7PbFpibxe2


21. Find the sum to n terms of a series is

. Show that it is an AP and find the 

 term.

Watch Video Solution

7n2 − 5n

15th

22. Find three numbers in AP whose sum is -3

and whose product is 8.

Watch Video Solution

https://dl.doubtnut.com/l/_EiMhQfyZCDh4
https://dl.doubtnut.com/l/_vHty6MUboKpo


23. Find the three numbers in AP whose sum is

21 and product is 231.

Watch Video Solution

24. Find the sum of all natural numbers

between 100 and 1000 which are multiple of 5.

Watch Video Solution

https://dl.doubtnut.com/l/_M26gnCAeaAri
https://dl.doubtnut.com/l/_8ubrxibmvAzV


25. If the AM and GM between two numbers

are 34 and 16 respectively. Find the numbers.

Watch Video Solution

26. If the ,  and  terms of a GP are

a,b,c respectively, show that 

Watch Video Solution

pth qth rth

aq−rbr−pcp−q = 1

https://dl.doubtnut.com/l/_fsVE4jmsbabY
https://dl.doubtnut.com/l/_S5hhmierDgay


27. The sum of the first p,q,r terms of an AP are

a,b,c respectively, prove that 

Watch Video Solution

(q − r) + (r − p) + (p − q) = 0
a

p

b

q

c

r

28. The ratio between the sums to n terms of

two AP is . Find the ratio of

their  terms.

Watch Video Solution

7n + 1: 4n + 27

11th

https://dl.doubtnut.com/l/_OkJaB3mrdHsM
https://dl.doubtnut.com/l/_fv3ifamYxdPQ
https://dl.doubtnut.com/l/_kLuB0mjZTAU5


29. If the sum of p terms of an AP is the same

as the sum of its q terms, show that the sum

of its  terms is zero.

Watch Video Solution

(p + q)

30. The sum of the first two terms of a GP Is -4

and the fifth term is 4 times the third term. 

Find the first term and the common ratio.

Watch Video Solution

https://dl.doubtnut.com/l/_kLuB0mjZTAU5
https://dl.doubtnut.com/l/_NGuvEsGFEnbx
https://dl.doubtnut.com/l/_XBRgTAwuVzwx


31. The sum of the first two terms of a GP Is -4

and the fifth term is 4 times the third term. 

Find the GP.

Watch Video Solution

32. The sum of three numbers in GP is 38 and

their product is 1728. Find the GP.

Watch Video Solution

https://dl.doubtnut.com/l/_XBRgTAwuVzwx
https://dl.doubtnut.com/l/_yqxsUxFhhX6x


33. Find the three numbers in GP whose sum is

13 and the sum of whose squares is 91.

Watch Video Solution

34. Find the sum to n terms of this series. 

Watch Video Solution

1 × 4 + 3 × 7 + 5 × 10 + …….

https://dl.doubtnut.com/l/_2vWAWxTNbn27
https://dl.doubtnut.com/l/_pnJsfrj6REUh


35. Find the sum to n terms of this series. 

Watch Video Solution

1 × 22 + 2 × 32 + 3 × 42 + …….

36. Find the sum to n terms of this series. 

Watch Video Solution

+ + + ......
1

1 × 2

1

2 × 3

1

3 × 4

https://dl.doubtnut.com/l/_ebru6bzf779U
https://dl.doubtnut.com/l/_pacGTwxf8l7Q


37. Find the sum to n terms of this series. 

Watch Video Solution

+ + + ......
1

1 × 2

1

2 × 3

1

3 × 4

38. Find the sum to n terms of this series. 

Watch Video Solution

12 + 32 + 52 + ……….

https://dl.doubtnut.com/l/_XBVlbqFntr1v
https://dl.doubtnut.com/l/_ti1bNxeaOBZS


39. nth tern of some sequence are given below.

Which term can be the n th term of an AP?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

an = n(n + 1)

an = 2 + 5n

an = 2n + 2

an = n2 + n + 1

https://dl.doubtnut.com/l/_7Ldn9ylX00kd
https://dl.doubtnut.com/l/_xohDFiIjAXhY


40. if the sum of  and  terms of an AP

is 100. Find the sum of first 33 terms.

Watch Video Solution

12th 22th

41. The product of first 3 terms of a GP is 1000.

If 6 terms to the second term and 7 is added

to the third term, the terms become an AP. 

Find the second term of GP.

Watch Video Solution

https://dl.doubtnut.com/l/_xohDFiIjAXhY
https://dl.doubtnut.com/l/_th8drjawixnI


42. The product of first 3 terms of a GP is 1000.

If 6 terms to the second term and 7 is added

to the third term, the terms become an AP. 

Find the terms of the GP.

Watch Video Solution

43. Find the sum of n terms of the series

..........

Watch Video Solution

7 + 77 + 777 +

https://dl.doubtnut.com/l/_GCoBqtJU7D9X
https://dl.doubtnut.com/l/_NYL7vYRxKG1f
https://dl.doubtnut.com/l/_iqSioxIW5Zt3


44. Consider the GP  


Find the sum to n terms of this GP.

Watch Video Solution

3, 32, 33, …. .

45. Consider the GP  


Find the value of n so that the sum to n terms

of this GP Is 120.

Watch Video Solution

3, 32, 33, …. .

https://dl.doubtnut.com/l/_iqSioxIW5Zt3
https://dl.doubtnut.com/l/_IlBNyU9tYsbA


46. Given sum of three consecutive terms in an

AP is 21 and their product is 280. 

Find the middle term of the above terms.

Watch Video Solution

47. Given sum of three consecutive terms in an

AP is 21 and their product is 280. 

Find the remaining two terms of the above AP.

Watch Video Solution

https://dl.doubtnut.com/l/_MZq8Bo2zfDct
https://dl.doubtnut.com/l/_OLORZlBCGoKp
https://dl.doubtnut.com/l/_Vb4kcNrkagjH


48. Consider the GP 3,6,12,…… 

Which term of this GP is 96?

Watch Video Solution

49. Consider the GP 3,6,12,…… 

Find the value of n so that sum to n terms of

this GP is 381.

Watch Video Solution

https://dl.doubtnut.com/l/_Vb4kcNrkagjH
https://dl.doubtnut.com/l/_RVDGPW9qjihj


50. What is the sum of the first 'n' natural

numbers?

Watch Video Solution

51. Find the sum to 'n' terms of the series

Watch Video Solution

3 × 8 + 6 × 11 + 9 × 14 + …....

https://dl.doubtnut.com/l/_ZYNuiMjEGdDU
https://dl.doubtnut.com/l/_ZCMAu4QnozXZ


52. If the sum of the first n terms of an

Arithmetic progression is

 where X and Y are

constants, find 

 and .

Watch Video Solution

Sn = nX + n(n − 1)Y
1

2

S1 S2

53. If the sum of the first n terms of an

Arithmetic progression is

 where X and Y areSn = nX + n(n − 1)Y
1

2

https://dl.doubtnut.com/l/_FPoEAW6vawmC
https://dl.doubtnut.com/l/_gqhgkoKCxD1k


constants, find the first term and common

difference.

Watch Video Solution

54. If the sum of the first n terms of an

Arithmetic progression is

 where X and Y are

constants, find 

The  term.

Watch Video Solution

Sn = nX + n(n − 1)Y
1

2

nth

https://dl.doubtnut.com/l/_gqhgkoKCxD1k
https://dl.doubtnut.com/l/_G8lvpse0ezaG
https://dl.doubtnut.com/l/_Gp7fDnNVDrgZ


55. Find the sum to n terms of the series, 

Watch Video Solution

22 + 52 + 82 + ……. .

56. Write the first four terms of the sequence

whose nth term 

Watch Video Solution

an =
n

n + 1

https://dl.doubtnut.com/l/_Gp7fDnNVDrgZ
https://dl.doubtnut.com/l/_Q8czcJDiF5wP


57. The sum of first three terms of a Geometric

Progression is  and their product is -1. Find

the common ratio and the terms.

Watch Video Solution

13

12

58. If the numbers ,x,  are three

consecutive terms of a GP, then find x.

Watch Video Solution

5

2

5

8

https://dl.doubtnut.com/l/_gwtn53dUsXK1
https://dl.doubtnut.com/l/_5EJmaqX72s0k


59. Find the sum of the first n-terms of the

series. 

Watch Video Solution

2 + 22 + 222 + …. .

60. Find the  term of the sequence whose

nth term is 

Watch Video Solution

5th

an =
n(n − 2)

n + 3

61. Write the sum of first n natural numbers.

https://dl.doubtnut.com/l/_svt8Y7kEdpiG
https://dl.doubtnut.com/l/_zT47TN3omZRJ
https://dl.doubtnut.com/l/_5UkqmrHSLEnM


Watch Video Solution

62. The ,  and  terms of a GP are p, q

and s respectively. Prove that .

Watch Video Solution

5th 8th 11th

q2 = ps

63. A man starts repaying a loan as first

instalment of Rs. 1,000. If he increases the

instalment by Rs. 150 every month, what

amount will he pay in the  instalment?30th

https://dl.doubtnut.com/l/_5UkqmrHSLEnM
https://dl.doubtnut.com/l/_BAvUSJgOcbua
https://dl.doubtnut.com/l/_k2h9ca5YMktF


Watch Video Solution

64. Find the sum to n terms of the sequence 

Watch Video Solution

7, 77, 777, 7777, …….

65. Consider the AP 4,10,16,22,…… Find its

common difference and the  term.

Watch Video Solution

7th

https://dl.doubtnut.com/l/_k2h9ca5YMktF
https://dl.doubtnut.com/l/_vSOA3hLNcq4X
https://dl.doubtnut.com/l/_8AhXCS775MQq
https://dl.doubtnut.com/l/_9r2olMkU3tiq


66. If the  terms of an AP is  and the 

term is , prove that the sum of the first 

terms is 

Watch Video Solution

mth
1

n
nth

1

m
mn

(mn + 1)
1

2

67. The  term of the sequence whose 

term is  is ……………….

A. 3

B. 

C. 

6th nth

tn =
2n − 3

6

1

2

3

2

https://dl.doubtnut.com/l/_9r2olMkU3tiq
https://dl.doubtnut.com/l/_VATttmgMZq5n


D. 

Answer: C

Watch Video Solution

1

3

68. Find the sum to infinity of the sequence

Watch Video Solution

1, , , ………
1

3

1

9

https://dl.doubtnut.com/l/_VATttmgMZq5n
https://dl.doubtnut.com/l/_wuaU3tV90peX


69. If a, b, c are in AP and  prove

that x, y, z are in AP.

Watch Video Solution

a = b = c
1
x

1
y

1
z

70. In an AP, the first term is 2 and the sum of

the first five terms is one fourth the sum of

the next five terms. 

Find the common dfference.

Watch Video Solution

https://dl.doubtnut.com/l/_2HeERl8seR7f
https://dl.doubtnut.com/l/_YgBXVKOqYblV
https://dl.doubtnut.com/l/_YEnNOvmRjYh3


71. In an AP, the first term is 2 and the sum of

the first five terms is one fourth the sum of

the next five terms. 

Find the term.

Watch Video Solution

20th

72. If AM and GM of two numbers are 10 and 8

respectively, find the numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_YEnNOvmRjYh3
https://dl.doubtnut.com/l/_Qfaq7ChfkgGf
https://dl.doubtnut.com/l/_Xdyg6pe8jDuH


73. In an AP if  term is 'n' and  term is

'm', find the  term.

Watch Video Solution

mth nth

(m + n)th

74. If ,  and  th terms of a GP are

x,y,z respectively, prove that x, y, z in GP.

Watch Video Solution

3rd 8th 13th

75. Prove that ,  and  th terms of a

GP are x,y,z satisfies the equation of

3rd 8th 13th

https://dl.doubtnut.com/l/_Xdyg6pe8jDuH
https://dl.doubtnut.com/l/_CzMEtLTrFN2J
https://dl.doubtnut.com/l/_OpKMhTHkOV1a


.

Watch Video Solution

= 1
y10

(xz)
5

76. Which of the following is the nth term of

an AP?

A. 

B. 

C. 

D. 

3 − 2n

n2 − 3

3n − 2

2 − 3n2

https://dl.doubtnut.com/l/_OpKMhTHkOV1a
https://dl.doubtnut.com/l/_Wy5u7eASDgMO


Answer: A

Watch Video Solution

77. Find the  term of the sequence 

,…………...

Watch Video Solution

10th

−6, − , − 5
11

2

78. The sum of the first three terms of a GP is

 and their product is 1. Find the common

ratio and the terms.

39

10

https://dl.doubtnut.com/l/_Wy5u7eASDgMO
https://dl.doubtnut.com/l/_mdnOTL0Txt5y
https://dl.doubtnut.com/l/_KKXKINg6j3Wz


Watch Video Solution

79. Find the  term of an AP whose nth

term is .

Watch Video Solution

10th

2n − 3

6

80. Find the sum of the first 10 terms of the AP

which is .

Watch Video Solution

2n − 3

6

https://dl.doubtnut.com/l/_KKXKINg6j3Wz
https://dl.doubtnut.com/l/_XLPnsynnvVvr
https://dl.doubtnut.com/l/_lEBi6DNKeqv3
https://dl.doubtnut.com/l/_vlFYmdUKHUTy


81. Find the sum of the first 10 terms of a GP,

whose term is 12 and  term is 384.

Watch Video Solution

3rd 8th

82. Find the  term of the sequence whose 

 term

Watch Video Solution

5th

nth an =
n2 − 5

4

https://dl.doubtnut.com/l/_vlFYmdUKHUTy
https://dl.doubtnut.com/l/_8y2z48IZAnlr


83. Find the sum of n terms of the series

..........

Watch Video Solution

7 + 77 + 777 +

84. Find the sum to n terms of the series. 

...........

Watch Video Solution

1 × 2 + 2 × 3 + 3 × 4 + 4 × 5 +

https://dl.doubtnut.com/l/_luGNkneZRITq
https://dl.doubtnut.com/l/_gWxvqnf16hx6


85. Find the sum of multiple of 7 between 200

and 400.

Watch Video Solution

86. The sum of first 3 terms of a GP is and

their product Is 1. Find the terms.

Watch Video Solution

39

10

https://dl.doubtnut.com/l/_E9QY7wEv9Q4k
https://dl.doubtnut.com/l/_cCo62ZdePN4e


87. If 'a' is the first term and 'd is the common

difference of an AP, then the nth term of the

AP, = ……………….

Watch Video Solution

an

88. In an AP, if the  term is 'n' and the 

term is 'm', prove that its  term is 

.

Watch Video Solution

mth nth

pth

n + m − p

https://dl.doubtnut.com/l/_DvgKlPEndHpu
https://dl.doubtnut.com/l/_fPAO59cqN2mf
https://dl.doubtnut.com/l/_V9dimFbS6Kbe


89. Find the sum to n terms of the series. 

...........

Watch Video Solution

1 × 2 + 2 × 3 + 3 × 4 + 4 × 5 +

90. If the sum of certain number of terms of

the AP 25,22,19,........is 116, then find the last

term.

Watch Video Solution

https://dl.doubtnut.com/l/_V9dimFbS6Kbe
https://dl.doubtnut.com/l/_5fRBG8FmCaX5


91. Find the sum to n terms of the series 

Watch Video Solution

1 × 2 × 3 + 2 × 3 × 4 + 3 × 4 × 5 + ....... .

92. The  term of the sequence whose 

term is …………….

Watch Video Solution

3rd nth

( )
n+ 1

3
2

https://dl.doubtnut.com/l/_yXeEJooA6U9X
https://dl.doubtnut.com/l/_WSs56xnf6wT0


93. Insert three numbers between 1 and 256 so

that the resulting sequence is a GP.

Watch Video Solution

94. If  term of an AP is 'q' and  term is 'p',

where  find  term.

Watch Video Solution

pth qth

p ≠ q rth

95. Geometric mean of 16 and 4 is …………..

https://dl.doubtnut.com/l/_roBx5Q2A49S4
https://dl.doubtnut.com/l/_4d0rrDawdpKH
https://dl.doubtnut.com/l/_8sXHEo9XIYDn


A. 20

B. 4

C. 10

D. 8

Answer: D

Watch Video Solution

96. Find the sum to n terms of the series:

5 + 55 + 555 + ………. .

https://dl.doubtnut.com/l/_8sXHEo9XIYDn
https://dl.doubtnut.com/l/_74YOLs3QiWDd


Watch Video Solution

97. Find the sum of n terms of the AP, whose

 term is .

Watch Video Solution

K th ak = 5K + 1

98. If the first three terms of an AP is ,

, , then x is……….

A. -2

B. 2

x − 1

x + 1 2x + 3

https://dl.doubtnut.com/l/_74YOLs3QiWDd
https://dl.doubtnut.com/l/_wlnEQwEZhcIg
https://dl.doubtnut.com/l/_YXA1VtBGKZyQ


C. 0

D. 4

Answer: C

Watch Video Solution

99. Find the sum to n terms of the series. 

...........

Watch Video Solution

1 × 2 + 2 × 3 + 3 × 4 + 4 × 5 +

https://dl.doubtnut.com/l/_YXA1VtBGKZyQ
https://dl.doubtnut.com/l/_y7bUv9DdznK9


100. The nth term of the GP 5, , ,

……………. 

is . Find 'n'.

Watch Video Solution

−
5

2

5

4
−

5

8

5

1024

101. The nth term of the GP 5,25,125, ......

A. 

B. 

C. 

n5

5n

(2n)5

https://dl.doubtnut.com/l/_hzt6UKQnpHDJ
https://dl.doubtnut.com/l/_E1d6r3LRhXHo


D. 

Answer: B

Watch Video Solution

(5)2n

102. Find the sum of all natural numbers

between 200 and 1000 which are multiples of

10.

Watch Video Solution

https://dl.doubtnut.com/l/_E1d6r3LRhXHo
https://dl.doubtnut.com/l/_LqaDCfToHZKr


103. Find the sum of the first n terms of the

series whose nth term is .

Watch Video Solution

n(n + 3)

104. Which among the following represents

the sequence whose  terms is 

A. 1,2,3,4,5,6

B. 2,3,4,5,6

C. 

nth
n

n + 1

2, , , ,
3

2
4
3

5

4

6

5

https://dl.doubtnut.com/l/_ctLOLXF3O0po
https://dl.doubtnut.com/l/_5jaGTjR3YABK


D. 

Answer: D

Watch Video Solution

, , , ,
1

2

2

3

3

4
4
5

5

6

105. Using progression, find the sum of first

five terms of the series 

Watch Video Solution

1 + + + …. .
2

3
4
9

https://dl.doubtnut.com/l/_5jaGTjR3YABK
https://dl.doubtnut.com/l/_X7tgWULjOgKJ


106. Calculate: ..... n

terms.

Watch Video Solution

0.6 + 0.66 + 0.666 +

107. The sum of the infinite series 

,……… Is…………….

A. 

B. 

C. 

1, ,
1

3

1

9

3

2

5

2

2

3

https://dl.doubtnut.com/l/_ft3TzVUx6aop
https://dl.doubtnut.com/l/_2KIsVYGFeQD8


D. 

Answer: A

Watch Video Solution

7
2

108. Find the sum of all natural numbers

between 100 and 1000 which is a multiple of 5.

Watch Video Solution

https://dl.doubtnut.com/l/_2KIsVYGFeQD8
https://dl.doubtnut.com/l/_FqCnOQopfxaN


109. Find the sum to n terms of the series:

,…..

Watch Video Solution

8, 88, 888

110. The  term of the GP , …….

A. 

B. 

C. 

D. 

6th , ,
1

2

1

4

1

8

1

32

1

64

1

16

1

128

https://dl.doubtnut.com/l/_jxDdoe6CYvEG
https://dl.doubtnut.com/l/_b1sCdLT7wvTw


Answer: B

Watch Video Solution

111. Find the sum to n terms of the series 

………

Watch Video Solution

3 × 12 + 5 × 22 + 7 × 32 +

https://dl.doubtnut.com/l/_b1sCdLT7wvTw
https://dl.doubtnut.com/l/_zhfLPtcqGWNk

